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QUESTION 1

Which resource type can an administrator use to mirror the state of another persistent resource?
A. Phantom

B. Proxy

C. VolumeSet

D. NotifierMngr

Correct Answer: B

QUESTION 2
What is the role of the AWSIP agent in an Amazon Web Services (AWS) cloud environment?
A. It associates IP resources in an AWS cloud environment.

B. It allows IP address traffic to be redirected to an Elastic Compute Cloud (EC2) instance in a Virtual Private Network
(VPC).

C. It associates and disassociates Elastic IP address and assigns/unassigns private IP.
D. It updates and monitors the host name to the IP address mapping.

Correct Answer: A

QUESTION 3

What is the impact to unsaved configuration changes in Veritas Cluster Server when an administrator stops the cluster
with a force option from the command-line interface?

A. The changes are automatically saved.

B. The changes are automatically discarded.

C. The potential corruption of the cluster configuration.
D. The changes are prompted to be discarded.

Correct Answer: D

QUESTION 4
An administrator needs to set up a service group dependency with the following characteristics:

1.
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The parent group depends on the child group being online on the same system.

2.

If the child group faults, the parent group should be taken offline.

3.

If the parent group faults, the child should go offline. Which type of dependency is this?
A. online local soft

B. online global hard

C. online local hard

D. online site firm

Correct Answer: C

QUESTION 5

As part of the consolidation efforts in a data center, the administrator decides to merge two two-node Veritas Cluster
Server (VCS) clusters into a four-node VCS cluster. The source and target clusters are on the same networks for LLT
communication. The administrator performs the following task as preparation for the merge while both clusters are still
running:

1.

modifies /etc/llttab files on the source cluster systems so the cluster ID is changed to the cluster ID of the target cluster
2.

modifies /etc/lithosts files on all systems to include the four nodes

3.

modifies /etc/gabtab files on all systems to require four systems to seed

4,

ensures the source cluster systems can see the fencing disks used by the target cluster

5.

copies the fencing configuration files from the target cluster systems to the source cluster systems

6.

adds the source cluster systems to the target cluster configuration using the hasys -add command

After the preparation is complete, the administrator stops the source cluster leaving the applications running, then stops

the whole communication stack and restarts it in the correct order. When the administrator attempts to start the cluster
again on the source cluster systems, they fail to join the four-node cluster.
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Which preparation step that the administrator failed to perform is preventing the source cluster systems from joining the
four-node cluster?

A. The cluster needs to be manually seeded using gabconfig -x on the source cluster systems.
B. The target main.cf file needs to be copied to the source cluster systems.

C. The service group configuration of the source cluster needs to be applied to the target cluster.
D. The cluster UUID from the target cluster needs to be copied to the source cluster.

Correct Answer: D
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